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Noise In counting system.

The noise in counting system is not exactly zero. There is always a finite probability
that a noise hit is generated. This problem is a general statystical problem called
‘level-crossing’ problem. The exact analysis is complicated, but with some
approximation a litteral expression for the number of noise hits in the unit time N,
can be found.

If the noise is of the gaussian type, the filter is a band-pass centered at frequency f,,
the noise at the input of the counting system is s and the threshold is V,,, we can
show that

N, = 2f , Oexp -V
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2.34E-08

1.40E-03

1.14E+01
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2.34E-08
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1.25E+04

0.001

0.001

0.001

0.001

0.001

0.001

0.001

0.001

2.34272E-11

1.4E-06
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